€ 7. BOWHAR 2011 FE#ZE EREF A2 (22/R)

BOBNAREBOTROBEKEZH x THAT L.
a) f(x)=x2+3)(x%2-2x+2) b) fX)=GZ—x+DHx+1)
fx) = flx) =

F()g@h(x) = (f(x)g(x)h(x) ThDIEEBOMHARXERNT 3 DOBEHOBOEEY
(f(x)g(0)h(x)) ZRDK.

FROBRE 1 [ZDOT fu(x) = x" EB<. [/ (x) = nx"1 T2 EABSIHRMETIIRT K.

D) n=1DEE.

Al e+ = i) _
h

fi'(x) = lim
h—0

() n=k DEETHUIIDETBHE, fil/(x) = kxk 1 VFE, fip () = fi(x) fi(x) 12D5,
BOWMHO AR =ANT,
fer' @) = () fr(x)) =



FHIES K%

glx) ZEROBYETHEE, B f(x) = ﬁ DEBHZTERICLICD > TRDKL.

B f(x) = $ DEEIRE FIE 4 & [FRINSETRD S,
a) f(x) = $ DABAEISFR f(x)e(x) = | DTDERDIE &

b) a) TKROICRZ f/(x) ICDOVTERE, f'(x) Z g(x) & ¢g'(x) DHTHERY.

[E=TH<]



6] BE4. 5 TEEARICAOT g(x) = 27 EB<EICEY, (xi) R,

(7] %5 ORBRAEDBIEREBVTEIZEICLY (x ) OBARKAERD L.

5] ;E;C))_ f() x ﬁ”% COBDABOMAAREBOTHAL, BEATEEARERNS

CECKY, mOEEY (f(x)) AR &.
g(x)



(9] ROBEKEEH x THAL L.

1 x—2
a) f(x)= 33 b) f(x) = 13
f(x) = S(x) =
x*4+3x =2 X
) f()=—F— d) f(x):xz_—xJrl
f'(x) = fl(x) =
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